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  ا����� 
�ل آ�	� ا���دة
   1ا����ط 

��ن �� ��	� ا����� ��Fe56 ��ر �� ا����� �
26 !�"�  .  112g، آ

أ ـ أ
 5 ,�د ا�/رات ا���3�دة 12 ه/ا ا�� ��ر إذا ا,�+��� أن آ�"� ���� ( �وي 
 �+��7)kg10671 27−−−−., �"���و��ت  وآ�kg1019mا�8 31

e
−−−−==== .,  .  
، إذا ,"�< أن  ��12 ا���=�ن  0,012kgب ـ أ
 5 ,�د ا�/رات ا���3�دة 12 

(((( )))) g109931Cm 23−−−−==== ��3@؟ ,.��Aه� ا ��  
�B آ�	� ��دة ا����� ا���3�دة 12 ا�� ��ر ��Aج ـ ا.  

   2ا����ط 
  .أ
 5 ,�د ذرات ا����س ا����ا�3ة 12 ��ل وا
� �� ا����س 

  . ا����ا�3ة 12 ��ل وا
� �� ا� ��روز  C12H12O11أ
 5 ,�د ا��F�GHت ا� ��روز 
  ا����ا�3ة 12 ��"�ل آ"�رور ا�O�د��م  -Clأ
 5 ,�د ا�����ت 

   �S�1ل)  3 (ا����ط
TS�) :g032 ,	��ت ا���اد ا����	� ��U وا
�ا �� آT ��دة  , >��+��� g108و  ��S ا�

 �XYا� G"2Ag  .  
  . أ,a `	�� ه/ا ا�]�د  .ا��	�	�_	��Y^ ,�د ا���اع  ن=	� أن ه/\ ا�]	���ن (��X ـ 1
   .ا��XYـ أ
 5 آ�"� ��ل وا
� �� ذرات ا��+��< وآ�"� ��ل وا
� �� ذرات  2

   �S�2ل 
�+� ا�]��O ا��	�	�_1 ا����س [�Cu  ���	�� �� �A�Aن أ���12 ا����� ا��+	]	� �

Cu63
Cu65و 29

أ
 5 .   %30,8و  %69,1: و�2ر(��d ا���	��� ,"c ا���ا�1 ه1 29
�"� ا����	� ا�/ر�� �]��O ا����س 12 ا����� ا��+	]	� �  . ا�

  4ا����ط 
�	����"� ا����	� �"�F�GHت ا��  أ
 5 ا�

 :  
  
  
  
  
  

�"� ا����	� �"��آ+�ت ا����	� �  أ
 5 ا�
  
  
  
  
 
 
 

   5 ا����ط
��ي ا��7رورة .  Y� ��lHVA=VB^ ا�� Bو  A`�رور(�ن �)A  �	 1 أوآ��o ز�p c",

آ�"� �pز ��o_1 أوآ 	� ا���=�ن .  ا�وآ H	� �pز B  c",1_��oا���=�ن وا��7رورة 
ه12B  1 ا��7رورة  ا�وآ H	�وآ�"� �pز mA=2,6g  1_��oه12A  1 ا��7رورة 
mB=1,9g  .  

و  ��M(O)=16g/mol ه1 آ�	� ��دة ا��rز 12 آT `�رورة ؟ �]�1 
M(C)=12g/mol  .  

 


 ا������
   ا������ت ���
 (g/mol)ا���� ا�
 ���������     O2 ا وآ

     N2ت ����� ا زو
     CH4ا�
�&�ن 

   C12H12O11ا���آ�روز 

 
���
ا�/�.
 ا-,
 
3
2آ�1ت ا ��0��  

  

     Na Clآ3�رور ا�/�د��م
     Al2O3أوآ��8 ا ��7����م 
 IIه�8روآ��8 ا��=�س 

Cu(OH)2   
  


